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mahmood@cluster:~$ echo “compute-0-0” >> ~/hosts.txt
mahmood@cluster:~$ echo “compute-0-1” >> ~/hosts.txt
mahmood@cluster:~$ echo “compute-0-2” >> ~/hosts.txt
mahmood@cluster:~$ echo “compute-0-3” >> ~/hosts.txt
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#!/bin/bash

#PBS -V
#PBS -g default
#PBS -j oe

#PBS -1 nodes=X:ppn=Y
#PBS -N Jjobl

#PBS -o /path/to/log/file
cd $PBS O WORKDIR

/share/apps/computer/openmpi-2.0.0/bin/mpirun -hostfile hosts -np 2
/share/apps/chemistry/siesta-4.0/spar/siesta < input.fdf
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mahmood@cluster:~$ gsub tor.sh
mahmood@cluster:~$ gstat

Job id Time Use S Queue

145.cluster Jjobl Mahmood 229:25:4 R default
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